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Question 1 [15]
Write down the output of the program
given right.

#include <iostream>
#include <cmath>
using namespace std;

#define kph 0.278
int main () {

enum {TO, T1 = 7, T2, S0, A =
double v0 = sqgrt (double(S0));

1};

double g = ( A!'=0 ? 9.8:10.0 );
for (int t=T0; t<=T2; t+=2){
int v = (v0 + g*t) * kph;

cout << t <<

}

'"\t' << v << endl;

return 0;

Question 2 [15]
Write down the output of the program
given right.

(Hint: take care when assigning results to
operations involving integer division and to
type integer variables)

#include <iostream>
#include <cmath>
#include <string>
using namespace std;

int main () {

double a = 25.8, b =4.3, ¢ =5.0, r, s, t;
int i=7, 3 =201, k=3, L, M;

string sl = "ometer", s2 = "therm", s3;

r =a/ b+ 3 * k;

s =1*3/ c;

t = sqgrt(5*c);

L. = int (4*c+k) / int(t);

M =1L % k;

s3 = s2 + sl;

cout << s3 << '\n';

cout << r << "\t' << s << "\t' << t << endl;
cout << L << "\t' << M << endl;

return 0;

Question 3 [10] Rewrite the following switch block using else 1if statement

switch (TVchannel) {

case 1: cout << "TRT\n"; break;
case 2: cout << "ATV\n"; break;
case 4: cout << "CNN\n"; break;
case 8: cout << "NTV\n"; break;
default:

cout << "No channel is assigned\n";




Question 4 [20]
Implement the following flowchart in a C++ program.

v

b=a+2

c=b° ¢ = In(a+h)

'—/Output a,c %_

v

Question 5 [20]

Write a program that evaluates and
outputs the result of the first 90 terms
of the following infinite series sum:

T T
T+—+ =+
4

Use a while statement.

Question 6 [20]

Write a program to evaluate the

current I in the circuit and the voltage
drop (V1 and V,) on each external resistor
R; and R,. The value of the resistances
must be read from keyboard. Assume that
the battery has an electromotive force of
Vo =12 V and an internal resistance
ofr=2Q.




